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Issues: Frequency Response (#2) 228.5Hz, 92.7 dBSPL
- Very simple first order filter for woofers, no Zobel network 120
- Bad layout of everything specially inductors FRT:N AR S, R SR R R N T S s SRS S SR A U N R — _gj
- No apparent impedance matching on tweeters (need it?) ISV IR N A R B R e IR N — Sys
- No L pad on tweeters to match the woofers (need it?) S
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L1 and L2 are measured values. Tweeter is Peerless XT255C90-04; Woofer is similar to Eminence Beta-8CX I R N BN 0 0 I S T TR RN I N
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SPL and Impedance data for Woofer Tweeter plotted using FPGraph and entered into XSim g S~
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Unknown Crossover frequency for 37 order HP filter with the components shown:

- even using the equations can’t get to those values. Something is off based on L REEEGRitts CUCECELES SECELE SERRE RO CUE B8 o0 O 7 EERP Rk UL ST Bl I EECLCRERERIRREY
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En = Rc @ Fc Res @ Fc @1KhHz - 9;
XSim " frequency [Hz] __ (meas) @2KHz —-12.5
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